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A dealer quotes the price of a commodity as £13000.00 plus sales tax at the rate of 8.00% . Find the amount that
a buyer has to pay to buy that commodity.

(i) X14038.00 (ii) X14042.00 (iii) X14041.00 (iv) X14040.00 (v) X14039.00

The list price of a commodity is ¥16000.00 and the shopkeeper gives a discount of 2.00% . On the remaining
amount, he charges 4.00% sales tax. Find the final price the customer has to pay to the shopkeeper.

(i) X16309.20 (ii) X16305.20 (iii) X16307.20 (iv) X16306.20 (v) X16308.20

If the marked price of a commodity is ¥13000.00 and the rate of sales tax is 4.00%, the sales tax =

(i) X520.00 (ii) X504.00 (iii)) ¥516.00 (iv) X537.00 (v) X525.00

If the marked price of a commodity is 5000.00 and the rate of sales tax is 5.00%, the selling price including sales
tax =

(i) X5250.00 (ii) X4970.00 (iii)) ¥5200.00 (iv) X5490.00 (v) X5290.00

If the price of a commodity inclusive of taxes is ¥6480.00 and the rate of sales tax is 8.00%, the marked price =

(i) X6180.00 (ii) X5840.00 (iii) X5870.00 (iv) X6000.00

If the price of a commodity inclusive of taxes is ¥9810.00 and the rate of sales tax is 9.00%, the sales tax =

(i) X795.00 (ii) X806.00 (iii)) X828.00 (iv) X810.00 (v) X837.00

If the price of a commodity inclusive of sales tax is ¥10900.00 and the marked price is ¥10000.00, the rate of sales
tax =

(i) 9.00% (ii) 11.00% (iii) 7.00% (iv) 10.00% (v) 8.00%

If the price of a commodity inclusive of sales tax is ¥14170.00 and the marked price is 13000.00, the sales tax =

(i) X1240.00 (ii) X1390.00 (iii) X920.00 (iv) X1170.00 (v) X1130.00

If the marked price of a commodity is ¥8000.00, the rate of sales tax is 7.00% and the rate of discount is 16.00%,
the sales tax =

(i) X444.40 (ii) X453.40 (iii) X488.40 (iv) X470.40

If the marked price of a commodity is 12000.00, the rate of sales tax is 2.00% and the rate of discount is
15.00%, the selling price =

(i) X11700.00 (ii) X10200.00 (iii) X11400.00 (iv) X8500.00

If the marked price of a commodity is 13000.00, the rate of sales tax is 8.00% and the rate of discount is
15.00%, the selling price including sales tax =

(i) X11934.00 (ii) X13134.00 (iii) X10334.00 (iv) X10634.00

If the price of a commodity inclusive of sales tax is X15840.00, the rate of sales tax is 10.00% and the rate of
discount is 20.00%, the marked price =

(i) X19200.00 (ii) X18000.00 (iii)) X20400.00 (iv) X16500.00 (v) X16300.00
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If the price of a commodity inclusive of sales tax is X8078.40, the rate of sales tax is 2.00% and the rate of
discount is 12.00%, the sales tax =

(i) X172.40 (ii) X158.40 (iii)) X131.40 (iv) X145.40 (v) X176.40

If the price of a commodity inclusive of sales tax is ¥5553.60, the rate of sales tax is 4.00% and the rate of
discount is 11.00%, the selling price =

(i) X5340.00 (ii) X5560.00 (iii)) X¥5170.00 (iv) X5370.00 (v) X5160.00

If the price of a commodity inclusive of sales tax is ¥5493.60, the rate of sales tax is 9.00% and the rate of
discount is 16.00%, the discount =

(i) X977.00 (ii) X932.00 (iii)) %945.00 (iv) X974.00 (v) %960.00

If the price of a commodity inclusive of sales tax is 13728.00, the marked price is 13000.00 and the rate of
discount is 4.00%, the rate of sales tax =

(i) 10.00% (ii) 15.00% (iii)) 5.00% (iv) 7.00% (v) 13.00%

If the price of a commodity inclusive of sales tax is 19720.10, the marked price is 19000.00 and the rate of
discount is 3.00%, the sales tax =

(i) X1250.10 (ii) X1290.10 (iii) X1040.10 (iv) X1460.10 (v) X1410.10

If the price of a commodity inclusive of sales tax is ¥5314.80, the marked price is 6000.00 and the rate of
discount is 14.00%, the selling price =

(i) X5040.00 (ii) X5020.00 (iii) X5280.00 (iv) X5310.00 (v) X5160.00

If the price of a commodity inclusive of sales tax is 9769.10, the marked price is £11000.00 and the rate of
discount is 17.00%, the discount =

(i) X2140.00 (ii) X1590.00 (iii) X1730.00 (iv) X1870.00 (v) X1940.00

The price of a commodity inclusive of sales tax of 7.00% is ¥535.00. If the sales tax is increased to 12.00%, how
much the customer has to pay ?

(i) 28.00less (ii) X25.00less (iii) ¥22.00more (iv) 325.00more (v) 328.00more

The price of a commodity inclusive of sales tax of 6.00% is 1696.00. If the sales tax is decreased to 1.00%, how
much the customer has to pay ?

(i) X80.00less (ii) X77.00less (iii) X80.00more (iv) X83.00more (v) X83.00less

A shopkeeper buys a product at a discount of 5.00% from a wholesaler. The printed price of the product is
X7000.00 and the rate of sales tax paid is 10.00%. The shopkeeper sells it at the printed price and charges tax at
the same rate. Find the VAT paid by the shopkeeper.

(i) X35.00 (ii) X37.00 (iii)) X33.00 (iv) X36.00 (v) X34.00

A person buys the following items from a departmental store : beverages of worth 2000.00, cosmetics of worth
X1800.00, bakery products of worth £1700.00, fruits of worth 1800.00. If sales tax is charged at the rate of
9.00% on beverages, 7.00% on cosmetics, 6.00% on bakery products, 2.00% on fruits, find the total amount to
be paid.

(i) X7924.00 (ii) X7744.00 (iii) X7894.00 (iv) X7584.00

A person wants to buy a commodity which costs ¥864.00. The rate of sales tax is 8.00%. The person tells the
shopkeeper to reduce the list price of the commodity such that he has to pay only ¥864.00, inclusive of sales tax.
Find the reduction needed in the price of the commodity.

(i) X67.00 (ii) X64.00 (iii)) X69.00 (iv) X59.00 (v) X61.00
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